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QUESTION 1

Which statements are correct? (More than one answer is true.)

A. The procurement data in the Quality Management view affects sales.

B. You use the inspection setup to define if and where the material is to be inspected.
C. During inspection planning, you access different master data.

D. QM-specific data is maintained at plant level.

Correct Answer: BCD

QUESTION 2

Characteristics must be manually valuated, if they have sampling procedure assigned in the task list or material
specification, or not having a sampling procedure with manual valuation.

A. Incorrect
B. Correct

Correct Answer: A

QUESTION 3

Which statements are correct? (More than one answer is true.)

A. Dynamic modification should be used to reduce the size of samples and for inspection skip.

B. If the maximum possible lot size is not exceeded, the sample size for the maximum possible lot size is used.
C. Dynamic Modification is used so that inspection costs can be reduced as a result of high quality.

D. If the unit of measurement for the inspection lot does not consist of single units, then the lot size is determined by
dividing the lot quantity by the sample quantity.

Correct Answer: ACD

QUESTION 4

Which statements are correct? (More than one answer is true.)

A. You cannot record costs and track capacity load utilization in the order.
B. You can use a relevant follow-up actions to change the equipment status.

C. You can record results for each item of test equipment (by unit to be inspected).
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D. You can also run control charts for equipment or functional locations.

Correct Answer: BCD

QUESTION 5

Pl Sheet is available for
A. Discrete Manufacturing

B. For all

C. Process Manufacturing

D. Repetitive manufacturing

Correct Answer: C
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